JYU—=XZw )L ABY
ARL—k2AT

MEBE : SUM24LHEXH
REWE . =@HyOA—FAvE

ME : =il C36041H%L
FEOE . AvTFELXI(X
ZuTlLXwFx

ZmEiE

2K o =3
AV
A-PT1/8 (JIS) PT1/8 20 10
A-PT1/4 (JIS) PT1/4 25 14
A-PT-1/4 PT1/4 21 14
A-M6 x 0.75 M6 x 0.75 13.5 7
A-M6 x 1.0 M6 x 1.0 14.5 8
A-MT6 x 1.0 MT6 x 1.0 13.5 7
A-MT8 x 1.0 MT8 x 1.0 17 10
A-M8 x 1.25 M8 x 1.25 17 10
*(JIS)[Z , JIS-B-15754H 24 &
7t 73 25 | OE
AV

A-PT1/8 (JIS) PT1/8 20 10
A-PT1/4 (JIS) PT1/4 25 14
A-PF-1/4 PT1/4 20.3 14
A-M6 x 0.75 M6 x 0.75 13.5 7
A-M6 x 1.0 M6 x 1.0 14.5 8
A-M8x 1.0 M8 x 1.0 17 10
A-M8 x 1.25 M8 x 1.25 17 10
A-UNF1/4 UNF1/4 14.5 8

*(JIS)I& , JIS-B-15754 4 &




JV—-X=Zwv7)lL BB
675° B4

MEB : SUM24LAEY
REWE . ={{oOA—rAYFE

ME . #Hiil C36041Y
REWLE . AyFELX(E
ZuTlL Xy E

ZmEE

e ro 3
NA
B-PT1/8 (JIS) PT1/8 21 10
B-PT1/4 PT1/4 22 14
B-PT3/8 PT3/8 25 17
B-MT6 x 0.75 M6 x 0.75 17 8
B-MT6 x 1.0 M6 x 1.0 17.3 8
B-MT8 x 1.0 MT8 x 1.0 19 10
B-M8 x 1.25 M8 x 1.25 19 10
*(JIS)[Z , JIS-B-157548 &4 &
2 ro =3 —
NA

B-PT1/8 (JIS) PT1/8 21 10
B-PT1/8 PT1/8 16 10
B-PT1/4 PT1/4 24 14
B-PT3/8 PT3/8 25 17
B-M6 x 0.75 M6 x 0.75 16.5 8
B-M6 x 1.0 M6 x 1.0 16.5 8
B-M8 x 1.0 M8 x 1.0 19 10
B-M8 x 1.25 M8 x 1.25 19 10
B-UNF1/4 UNF1/4 16.5 8

*(JIS)[Z , JIS-B-15754H 24 &




JY—XZw ) cB
90° B4

MEB : SUM24LAEY
REWE . ={{oOA—rAYFE

ME . #HEi C36041Y
KEWLE . AyFELXIIE
ZuTlL Xy

m%t 29 g | TR
AV
C-PT1/8 (JIS) PT1/8 21 10
C-PT1/4 PT1/4 22 14
C-PT3/8 PT3/8 25 17
C-MT6 x 0.75 M6 x 0.75 17 8
C-MT6 x 1.0 M6 x 1.0 17.3 8
C-MT8x 1.0 MT8 x 1.0 19 10
C-M8 x 1.25 M8 x 1.25 19 10
*(JIS)[Z , )IS-B-15754H 24 &
mt * g | R
AV
C-PT1/8 (JIS) PT1/8 21 10
C-PT1/8 PT1/8 16 10
C-PT1/4 PT1/4 24 14
C-PT3/8 PT3/8 25 17
C-M6 x 0.75 M6 x 0.75 16.5 8
C-M6x 1.0 M6 x 1.0 16.5 8
C-M8x 1.0 M8 x 1.0 19 10
C-M8 x 1.25 M8 x 1.25 19 10

*(JIS)[Z , JIS-B-15754H 24 &




